
SAP ABAP table WDR_TEST_DDIC_INCLUDE {test: include Struktur}

WDR_TEST_DDIC_INCLUDE

MANDT [CLNT (3)]

CARRID [CHAR (3)]

COUNTRYFR [CHAR (3)]

CITYFROM [CHAR (20)]

AIRPFROM [CHAR (3)]

COUNTRYTO [CHAR (3)]

CITYTO [CHAR (20)]

AIRPTO [CHAR (3)]

MANDTA [CLNT (3)]

CARRIDA [CHAR (3)]

COUNTRYFRA [CHAR (3)]

CITYFROMA [CHAR (20)]

AIRPFROMA [CHAR (3)]

COUNTRYTOA [CHAR (3)]

CITYTOA [CHAR (20)]

AIRPTOA [CHAR (3)]

MANDTB [CLNT (3)]

CARRIDB [CHAR (3)]

COUNTRYFRB [CHAR (3)]

CITYFROMB [CHAR (20)]

AIRPFROMB [CHAR (3)]

COUNTRYTOB [CHAR (3)]

CITYTOB [CHAR (20)]

AIRPTOB [CHAR (3)]

SAIRPORT

MANDT [CLNT (3)]

ID [CHAR (3)]

 WDR_TEST_DDIC_INCLUDE-AIRPFROM = SAIRPORT-ID 

0..N

1

 WDR_TEST_DDIC_INCLUDE-AIRPFROMA = SAIRPORT-ID 

0..N

1

 WDR_TEST_DDIC_INCLUDE-AIRPFROMB = SAIRPORT-ID 

0..N

1

 WDR_TEST_DDIC_INCLUDE-AIRPTO = SAIRPORT-ID 
0..N

1

 WDR_TEST_DDIC_INCLUDE-AIRPTOA = SAIRPORT-ID 
0..N

1

 WDR_TEST_DDIC_INCLUDE-AIRPTOB = SAIRPORT-ID 

0..N

1 SCARR

MANDT [CLNT (3)]

CARRID [CHAR (3)]

 WDR_TEST_DDIC_INCLUDE-CARRID = SCARR-CARRID 

0..N

1
 WDR_TEST_DDIC_INCLUDE-CARRIDA = SCARR-CARRID 

0..N

1
 WDR_TEST_DDIC_INCLUDE-CARRIDB = SCARR-CARRID 0..N

1

SGEOCITY

MANDT [CLNT (3)]

CITY [CHAR (20)]

COUNTRY [CHAR (3)]

 WDR_TEST_DDIC_INCLUDE-CITYFROM = SGEOCITY-CITY 

0..N

1  WDR_TEST_DDIC_INCLUDE-CITYFROMA = SGEOCITY-CITY 

0..N

1
 WDR_TEST_DDIC_INCLUDE-CITYFROMB = SGEOCITY-CITY 

0..N

1
 WDR_TEST_DDIC_INCLUDE-CITYTO = SGEOCITY-CITY 

0..N

1

 WDR_TEST_DDIC_INCLUDE-CITYTOA = SGEOCITY-CITY 

0..N

1

 WDR_TEST_DDIC_INCLUDE-CITYTOB = SGEOCITY-CITY 

0..N

1

 WDR_TEST_DDIC_INCLUDE-COUNTRYFR = SGEOCITY-COUNTRY 
0..N

1

 WDR_TEST_DDIC_INCLUDE-COUNTRYFRA = SGEOCITY-COUNTRY 0..N
1

 WDR_TEST_DDIC_INCLUDE-COUNTRYFRB = SGEOCITY-COUNTRY 

0..N

1

 WDR_TEST_DDIC_INCLUDE-COUNTRYTO = SGEOCITY-COUNTRY 

0..N

1

 WDR_TEST_DDIC_INCLUDE-COUNTRYTOA = SGEOCITY-COUNTRY 

0..N

1

 WDR_TEST_DDIC_INCLUDE-COUNTRYTOB = SGEOCITY-COUNTRY 

0..N

1

T000

MANDT [CLNT (3)]

 WDR_TEST_DDIC_INCLUDE-MANDT = T000-MANDT 

0..N

0..N

 WDR_TEST_DDIC_INCLUDE-MANDTA = T000-MANDT 
0..N

0..N

 WDR_TEST_DDIC_INCLUDE-MANDTB = T000-MANDT 0..N

0..N


